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Paper : GE-3 A
- ( Indian Economy )
1. oo fimn erpry T fan - 1x8=8
Answer the following questions :

(a) TR R 2
What is liberalization?

(b) VTR S P 2
What is HDI?

(c) iR M ¥ 2
What is poverty line?
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(d) Pres TR 77 Forea B e

What do you mean by infant mortality
rate?

(e) “OIR (el et 1 3o ?
What do you understand by income
inequality?

() SRS SRFRT MRS 1 16T A9TS TS ?

In which sector, maximum number of
labour force of India is involved?

(g) 05> TR GIRPRE TS, SRS e T
R 2

According to 2011 Census, what is the
density of population in India?

(h) MGNREGA 3 5= Feitht forai 1
Write the full form of MGNREGA.

2. o[ R o ok evEe vy G forn (efedh
150 " foe%o) : 4x4=16

Write short notes on any four of the following
(within 150 words each) :

(a) B wER S
National population policy
(b) W W e ATl

Absolute and relative poverty
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(3)

I o wRyel
Growth and poverty

(d) TR fg

Disguished unemployment

(e) aﬁ%mac&asiaaﬁvm¢‘ﬁimwavﬁmﬁ%agspn

Compare the rank of India and Taiwan
in trade

T SPPTRY Ted fo1 (AfSeh1 500 R foeve) :
Answer the following questions (within 500 words

each) :

3. (a)

)

4. (a)

22P/388

AF-FETON ICC OFeA SRR  w=E
SO el F11 14

Discuss the condition of Indian economy
on the eve of Independence.

w%41 / Or
IR ot R T2 S90® (PR

AT WF FIGF AR HCEAT 47 |
2+12=14

What do you mean by globalization?
Discuss about the positive and negative
effects of globalization in India.

SRET FPRYA TPIRA (PR & [ e
SICESAT 4T | 14
What are the demographic features of
Indian population? Discuss.
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51 / Or

(b) SRS GPRAY I MY e o A=od
A I

Discuss the trend and composition of
population growth in India.

5. (a) SR%S WREe [RE I@ 21 1 R
TP Ry T =4 | 14

Explain the various measures taken by
the government to alleviate poverty
in India.
Y%A/ Or
(b) SS BER (WO FRPIR T 341 |

Discuss the causes of income inequality
in India.

6. (a) BMRE, w1 @RW, Swm we oROW
AT G M 1 | 14

Give a comparative analysis about the
economies of Singapore, South Korea,
Taiwan and India.

ST/ Or

(b) AT T IR Beowo, Wi iR E
BRI e F1 Sommmgz e w1 |

Explain the measures taken by
Singapore, South Korea and Tajwan for
economic development of their respective
economies.
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Paper : GE-3 B
[ Economics (Macro) ]

1. oo ey Ao bew fam - 1x8=8
Answer the following as directed :
(a) AR FHR SWYS T
The functions of money do not include

(i) REER T

a medium of exchange

(i) TR ST

a store of value

(iii) FAS CHI-NSAR T
a standard of deferred payment

(iv) IR R

stability of value
(o= a1 1R e )
( Choose the correct answer )
(b) % FIPTH I T

High-powered money is

() IRT AT T QTS (VR S
commercial bank’s reserve at
Central Bank '

i) QLT I T &I
money held by banks
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(i) TOWRR TS & T AR ik
AT (AR S

currency held by public and reserve
with the Central Bank

(iv) @S I8 =W
None of the above

(W%w%wﬁ%ﬁw )
( Choose the correct answer )
(c) e TSI Toi1el P A SEL T

Mention the two components of financial
market.

(d) oo ! Sace R aifdd T ?

Which of the following is not a
non-banking financial institution?

() oEew e R QO

Industrial Development Bank of
India

(i) TG HiE o= Tfewm
Unit Trust of India
(i) IR T QT
Land Development Bank
(iv) “NGR G AT
Punjab National Bank
(o7 TeCh! AR Terean )

( Choose the correct answer)
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(e) SRS [T R BF MCEH 1 Py |

Name the oldest stock market in India.

TR a7 =L foray |

State the meaning of ‘narrow money’.

0]

(9)

M

22P/388

T X o AR o |

(8% T wRym o )

Interest is the reward for pasting with
liquidity.

( Write True or False )

JPMRE [ @@ =BT
The commercial bank’s Balance Sheet is
divided into

(i

(i

(i)

(iv)

FakSkl

two parts

RS
four parts

fefor s1et
three parts
651 @1t
five parts
(o= Teahr 1R Sforeay )

( Choose the correct answer )
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| 4x4=16
2. o & B (R o wifRer) -
Write short notes on (any foun :

(a) T B

Money multiplier

(b) SRR REY 143 Fewa
Financial sector reform in India
(c) T IHH P
Stock market index "

(d) Y8 7 W% % 3 oM |

. d
Distinction between gross interest an
net interest

(e) AoFRE’ iRy

f
Portfolio management

e T

——

3 (@) @R R @ o PR R R

R R 7R TR 8o R oo C’f‘““; o
SIS 341 | 6+ |

ey
What are the determinants of the money |

C "g
Supply in an economy? Discuss how th®

ral
SUPPlY of money influences the gene
Price leve],

1/ Or A
b) @1 i w1 3
%I T rfa® e

What is meant by money? Explai?
functions of money. J

W
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4. (@ T TR BARPIR WA F | @ @
SI¥ o4 I/ Vol 91 | 6+6=12
Discuss on the components of money
market. Compare between money
market and capital market.

%J1/ Or

(b) NBFI x5 &7 NBFR IRES wam <

eI @5 IF NBFIF F1e 751 =N1e/y forg |
3+7+2=12

What is meant by NBFI? Explain the
functions of NBFI. Mention two
differences between commercial bank

and NBFI.

5. fa) ¥o TCFBT IR T T 1 ¥ WY @y
TeEy 90 6+5=11
Explain the functions of a stock market.
Mention the significance of. a stock
market.

931/ Or

(b) Y R fora 6+5=11

Write short notes on :

(i) 8% D T 1 IR 7S
Methodologies for calculating stock
marketvindex

(i) SO 8 MFHR oty

Defects of Indian stock market

22P/388 ( Turn Over )



(10 )

6. (@) F IW T N WA R S g
AR 2SR wCH! Tt <4 | 4+7=11
What is meant by term structure of
interest rates? Explain the expectation
theory of term structure of interest rates.

S/ Or

(b) TR W TS oA wam g
1 | SRR TRNGR T 79 Refaow oF
MEEEE I TR 7 7+4=11
Explain the role of liquidity preference
theory in the determination of the rate of
interest. Does the liquidity preference
approach offer a satisfactory explanation
of the interest rate determination?

B TR SR iRy 4 e
afem S

IR M1 AR a9 3R LR ,
&R L

Explain with the help of an example the

process of multiple credit creation by the
commercial banking system. What are

the limitations of credit creation
Capacities of the commercial banks?
ST/ Or

(b)“‘“ﬁﬂﬁ%mﬁ%?@@m@@
Slcie)

F R ereeRy 99 fRuger "ﬁﬁ’,ﬂ
WW&WWl 4+7

at are the measures of credit control?
Explain how ang when the Central Bank
uses each measure to credit control. )
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Paper : GE-3 C

( Environmental Economics )

1. ©oe faaRe Aot Ted fm 1x8=8
Answer the following as directed :

(@) R Iize fidl |
Define externalities.
(b) =8 kR I (MEC) XA
Marginal External Cost (MEC) is
() MSC-MPC
(i) MSC+ MPC
(i) MSC + MSB
(ivy MPB-MPC
(o TeI0h IR Bfrean )
( Choose the correct answer )
(c) Tea=dm o b1 S e |
Give one example of common property
resource.
(d) SRR 7T T (R S GRIS
TR TS (AT SreefEet 7
In which year the sustainable
development concept of economics was
first forwarded in United Nations?
() 1980
(i) 1987
(@) 1975

(i) 1960
(o Te0H R ferean )

( Choose the correct answer )
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(e) TNAR T WA 2ACNHS |
The Wildlife Protection Act is enacted in

() 1971
() 1972
(i) 1983
(iv) 1980

(o Teach afk Bl )

( Choose the correct answer )
(5 4R T Ry 0

What is the main subject-matter of
Montreal Protocol?

(g) oISl STA b1 Srae fum o

Give one example of pollution permit.
(h) F'&T oG B MR forr |
Write one limitation of Coase theorem.
2. oS PR R e 5iRbR esme vy e for
(eafSH1 150 7 foete) - 5x4=20

Write short notes on any four of the following
(within 150 words each) :

(a) &R RE=rel
Market failure
(b) *FRPNR ST® 75 ITTHT

Strong and weak sustainability
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(c) IR I
Carbon trading
(d) “Re oF ST S@eT=o
Interlinkage between environment and
economy
fe) Trgfam ¥
Pigouvian tax
() & TR STH
Ozon layer depletion

o PTYRY Beq o (21 500 1 foews) «
Answer the following questions (within 500 words
each) :

3. @) R wA® Fra B w2 Ry
9y e wive Rf$s Ry e s
ot SCeol 40 | 3+10=13
‘What is environmental economics?
Discuss the issues and problems related
to environmental economics.

%31/ Or

(b) o SO TAHT MRS
HMRee 2R Te =W, T | S 3w
SGT S X TPTR T 790 140 347 |

3+10=13
Show the problem of environmental
pollution as a result of common porperty
rights. Discuss its solution as explained
by Ronald Coase theorem. -
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4. (a)

(b)

5. (a)

(b)

22P/388

( 14 )

S ORI A A% 9~ e
ey T 4 | 13

Give an account on the environmental
policies = undertaken in developing
countries.

31/ Or

JRER O TP e BuarR
e 340 1 $-opR Tee R IR R
TeEy T 10+3=13
Discuss the global environmental
problems with  suitable example.
Mention three causes of global warming.

ARERRRT 0 P &S 7 ) e
ffn reemz & 57 @R =RROR Ry e
SPRYPIYR I 711 | 5+8=13
What is contingent valuation method?
What are the various stages of this
method? Explain the advantages and
disadvantages of this method.

%[T/ Or

AR TR cvae ToR Mg 3o P

R @7 @& e R TR awr e
Jef 30 3+10=13

What do you mean by non-market
valuation of environmental valuation?

Explain the types and definitions of
these non-market valuations,

( Continued |




6. (a)

(b)

22P~3500/ 388

(15 )

Wﬁﬂmﬁmwﬁ@ww
31 74 3+10=13

Define sustainability. Explain the
various indications of sustainability.

{1/ Or

Pt SRR ITTEIOR A RN

39 | % OGF fOfRE Rwer forgr | 10+3=13

Discuss the Pearch Atkinson approach
of measuring sustainability. Write three
limitations of this approach.
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